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1. 2x%+38x+1=(x+1)(2x+1)

2. 3y"+5y+2=(y+1)(3y+2)
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+11lw+2 = (w+2)(5bw+1)
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25x% — 4 = (5x +2)(5x - 2)
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=2(t-1)(t+5)

6x2+5x+1= (2x+1)(3x+1)
9% +9y+2 = (3y +1)(3y +2)

10w? - w -2 = (2w -1)(5w + 2)

14a® +19a -3 = (2a + 3)(Ta - 1)
24¢®+¢-10 = (3¢ + 2)(8¢ - 5)

36d” - 19d - 6 = (4d — 3)(9d + 2)
30¢” — 43¢ + 15 = (5e — 3)(6e - 5)

—6f%+11f+35 = —(6f2-11f-35)
=—-(2f-7)(3f+5)

-20g°-23g -6 = —(20g% + 232 + 6)
=—(4g +3)(bg +2)

~8h%-31h+4 = —(8h%+31h - 4)
=—(h+4)(8h-1)

8b”+16b + 6 = 2(4b% + 8b + 3)
=2(2b+1)(2b+3)

~27k” + 168k - 36 = —3(9k% - 56k + 12)
= 3(k-6)(9k-2)

8p%—49 + 14p = 8p% + 14p — 49
=2p+T)4p-17)
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6. ¢’ 12cd - 13d” = (¢ + d)(c - 13d)

28. —185°—6-565
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-2(s+3)(9s+1)
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8. 5a%+12ab +7b% = (a +b)(5a + Tb)

2 2 .
29 23b=121y" =181 HE80 ‘ 9. 11r%-23rs +25” = (r=2s)(11r—s)
= —(121/% - 225) e

=—(11¢t+15)(11t-15 g
(1 160 ) 10. 16112—25L72=(4u+5v)(4u—50)

30. 60n-36n"-25 = —36'12: 60n - 25 1. &% +4xy - 21y% = (x = 3y)(x + Ty)
=—(36n"-60n +25)
2
=—(6n-5)" 12. a®—2ab-24b% = (a + 4b)(a - 6b)

13. p2 +13pm + 40m* = (p+5m)(p+8m)

8C (5 10 H) 14. r® _11rs+18s% = (r—2s)(r-9s)
s 15. m%+mn-42n° = (m-6n)(m+7n)
AN
m|aR B 16. u”+2uv-630% = (u—"Tv)(u+9v)
@ HBRE X+ bxy+cy® =LK 17. 164+ 26ab + 3% = (2a + 3b)(8a + b)
s rAERAKX.
@ MR A ax®+bxy+cy? =k 18. 15¢%+17cd - 4d? = (3¢ + 4d)(5¢ - d)
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® H-AZKSEAXSMARKX, LT
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@ 1-6 11-16
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1. x2+3xv+2y2= x+y)(x+2y)
y+ey = x+y)xt ) 22. -32p%+68pr-21r% = —(32p> - 68pr + 2172)

=—(4p-T7r)(8p -3r)

2. 2%+ 2xy - 3y2 =(x-y)(x+3y)
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23. 40x%—35y% + 22xy = 40x% + 22xy - 35y°
= (4x+5y)(10x - Ty)

24. _13k0+10k%2-90% = 10> - 13k 0 -90°
= (2k+ 2)(Bk-920)

25. —42rs+ 952+ 49r% = 491 —42rs + 952
=(7r- 33)2

26. —4410% + 1444® = 1444° — 44107
= (12u)? - (21v)?
= (12u +21v)(12u - 21v)
=34u+7v)3(4u-"Tv)
=9(4u+7v)(4u -"7v)
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) 1-8
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. (x+1)(x-10)=0
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x-1=0 B x-5=0
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1. *+5x-6=0
(x 1)(x+6)=0
- -1=0 3 x+6=0
i1 x=1 = x=-6
12. y*-10y+16=0
(7-2)(y-8) =0
o y-2=0 3% y-8=0
Bp y=2 8 y=8

13. m>-12m +27 = o
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B 1 =3 B m =

14. n’-8n+16=0
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n=4 2 n=4
1] n=4 (=%
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(x 2)(2x-1)=0
.o 1—2"—'0 ﬁ zx—]_:
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EI] x=1 17 X =
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19.

20.

21.

22.

23.

24.

25.

26.

27.

—TLZIRAHE

X222y +120 = 0
(x—lO)(1—12)

3 x-10 = 0 B x-12=0
EF x=10 B x=12

y2 45y 144 =0
(y+3)(y-48) =

y+3=0 B y-48=0
EI] y:—3 Ejz

-3 v=148
1712—46772 96 = 0
(m+2)(m 48) =
& m+2 = 0 B m-48=0
Bp m=-2 19 m =48
n?-19n +84 = 0
(17—7)(n 12) =
5 n-T= 0 ® n-12=0
Bp n=17 17 n=12
2x% - 11x+12 =0
(x 4)(2x-3)=0
. x-4=0 B 2x-3=0
il x=4 17 x:%
3y _16y-12 =0
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B c=—§ o c=_5

3

9



